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What season is it? How is the weather? Write two sentences about each picture.

3. \ YS9  Gumveen 4\
1+7s veey hod s




upns

Waiting for the bus

A Write sentences. Use the words in parentheses.

1. Huao is wearing a tie. (tie)
2. Jodd and Alicia are wearing POOtS (boots)

3. C\\J\'woo is Weoi~nje o TV -~ <hee ¥ (T-shirt)
4, k‘_.bgfﬂ i€ =g Wacpviag S Bk (skirt)

S. HO\!Q (€ Weai19 4a° é eSS (dress)
6. (\\v\ U0 O s \NCO' D9 0 SacakesrS (sneakers)
7. TOC‘A 1S WCgring c, scov ¥ (scarf)
g Huyois weot'nD a hals (hats)

B Correct the false sentences. \
1. Chul-woo is wearing jeans.
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Complete the sentences.

1. Myname's Jane.| mwescing 2. It 007 L1008 cnowing, but A
L » -

aT-shirtandshorts. | =0 Wi f ¢ 1 L5 a ok I P ots —she Y WeO— N3
sneakers, too. It *_\W29:.04 raining, high heels. She = €022 gloves, and
butl __ ' a raincoat. she o wifer ") ahat

4. Roger T\ W€ 605 gt

3. Itsvery hot. Tom and Sue Y\ W ¢000J
sweaters today. They 10 W Cov > ] pants. He o W €0 ¢ abelt, but
It's sunny, soSue t0_wCE ") ahat, he o W CO: 9 atie.

and Tom o = € €0 4] sunglasses. He ;o wife-~3  shoesand socks.
It's very windy.

'Wﬁ&mmm@gg

1. He's wearing jeans and sneakers, __and __ he's wearing a T-shirt.
2. It’s very cold outside, _bu¥  tmnotwearing a coat.
3. Herskirtisblue, @18 _ her blouse s blue, too.

4. Itsraining, 2u X | need an umbrella.
5. He's wearing an expensive suit, Qg) he's wearing sneakers.

6. It's summerand it's verysunny, — S0 __ it's hot.
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f‘ What are these people doing? Write sentences. Use the words in the box.

~

) recd o book () deep
O ride o bike O swim
3 shop O toke o wok
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Answer these questions.

1. Is Debbie getting up? 2. Are Kelly and Tony taking a walk?
No. she's not. She's sleeping No. they'rz not. They're shoooina

3. Are ? , 4, lsCafmendmmgacar’ﬁ‘ = s
%}ﬂ( 3 rj‘ .T (0 L AN “-) < r,¢_ ._2\\-, ‘\"IA‘AQ a nile

IsBilplayhgtenms’ 6. Is Michiko heremail?
‘le ‘C l (; Yryn NO_)‘\C S ND 1‘3\\ Ual(\/ Tv.

No'\ aod. he's VCQBS QW&N\:‘:::,;{? cs uu&c
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Write questions about these people. Use the words in parentheses.
Then answer the questions.

5. 1S Btdo and soki o wakthag Aeiess

1. A: Is Terry wearing chorts?
(Pedro and Sonia / watch television)

(Terry / wear shorts)
B: No he's not He's wearing jeans. B:NO they % vol, \het17s Uegeny AP
2 AlSToilaweowss Ay nnion) 6 AleTailia and handon eohvay P
(Tai-lin / wear a raincoat) (Tai-lin and Brandon / eat pizza)
B: m.{sﬁo*‘ \TC'éiU(ov‘JW‘"‘M)B;S e ANey caling DITLT
A NE

5 A’ 16 Moe0 Yol ag onthe ovo’7 o VS fados chalie
(Maria / talk on the phone) (Carlos / chat onling) A
g:No She’s nol.Che's SECP.A) g0 he's nok. he's teon & boo!

4 A \S Teu:O\B \V\(\f\ fg\»"-:lj 8 A ‘ﬁ Mac 0 W& OV s \330\,() 2
(Maria / wear boots)

(T Helen / eat) ; 7
B: Nﬂ:‘:{: not, \eye v eoing doeey g No hesrot, She's weowmy hoh
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